Calculus Section 3.7-3.10 - Even Answers
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Section 3.7

2.(a) 0  (b) 0

4.(a) 0  (b) 0

6.(a) 1  (b) 1

8.(a) 1/2  (b) 1/2

10.(a) 
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12. 2

14. -5/3

16. 2

18. 0

20. 0

22. 3/2

24. 
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26. 
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28. -1

30. 1/2

32. 1/2

34. 1

36. x = 0

38. x = -1 and y = -3

40. x = 2, x = -2, y = -1

42. y = 3, y = -3

44. x = -5/2, x = 2/3, y = 0

46. x = -3, x = -2, y = 0

48. x = -4, y = x - 7

50. x = 2, y = x + 2

52. x = 1, y = x + 5

54. x = 0, y = x

56.(a) 
[image: image4.wmf]¥

 (b) 
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 (c) -2

(d) 1 (e) -
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 (f) 3

(g) 5 (h) 3

Section 3.8

Critical Values (x’s)

2. 0, 3

4. -1, 2

6. 0

8. 1

10. 0

12. 2

14. -4, -8/5, 0

16. no critical values

18. 
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20. 0


22. � EMBED Equation.DSMT4  ���, 0


24. 0


26. � EMBED Equation.DSMT4  ���


and x = 2


28. -1, 1


30. 0, 3.2


32. � EMBED Equation.DSMT4  ���





Section 3.9


2. r = � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. x = 5


8. � EMBED Equation.DSMT4  ���


10. about 9.04knots


12.(a) 21/20 min


(b) 4 km


14. R = r


16. about 


7.3 in by 10.9 in


18. 80 desks daily


20.� EMBED Equation.DSMT4  ��� m, (1,� EMBED Equation.DSMT4  ���)


22. � EMBED Equation.DSMT4  ��� m


24. semicircle radius = � EMBED Equation.DSMT4  ���ft


rectangle altitude = 


� EMBED Equation.DSMT4  ���ft


26. 35.1 ft length


28. r = � EMBED Equation.DSMT4  ��� and 


h = 4a, h:r = � EMBED Equation.DSMT4  ���








Section 3.10


2. -.1102	4. .7549


6. -2.2583	8. 1.952


10. 1.7603	12. 3.16228  


14. 1.91293	16. 1.8955


18. .8241


20. L(x) = 3x - 2


22. L(x) = -4x + 6


24. L(x) =


 .54030(x - 1) + .84147   


26. 6, 7.625


28. .25, .236


30. (a) -.0996  (b) -.1


(c) .0004


32. (a) .0238  (b) .022


(c) .0016


34. (a) .271  (b) .3


(c) =.029


36. dy = � EMBED Equation.DSMT4  ���


38. dy = � EMBED Equation.DSMT4  ���


40. dy = 


� EMBED Equation.DSMT4  ���


42. dy = � EMBED Equation.DSMT4  ���


44. $60


46. � EMBED Equation.DSMT4  ���


48. � EMBED Equation.DSMT4  ���


50. 1/12 in


52. .67%
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